IF X=X + 3. THEN )XC EQUALS A 40 x 40 white square is divided info 1 x 1

squares by lines parallel 15 its sides. Some
of these 1 x 1 squares are coloured red So
that each of the 1 x 1 squares, regardless
of whether it is coloured red or nef, shares
a side with at most one red square (net
1 have $10 in 10-6ent counting itself). What is the largest possible

soine. $10 in 20-6nt number of red squares?
éoing and $10 in 80-eent
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www.amt.edu.au / | if n pigeons are put inT® m holes,
\7/ . with n > m, then at least one hole
must confain more than one pigeon,
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